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201242 | 2013. 28 | 2013. 3&L 4/5 4712 4/15 4/16 417
7|1E=E 2.75 2.75 2.75 2.75 2.75 2.75 2.75 2.75
CD(91¢) 2.89 2.82 2.81 2.80 2.79 2.79 2.79 2.79
S3HESA(1H) 2.78 2.64 2.57 248 265 265 261 261
=R (3E) 2.82 2.63 252 244 2.67 2.66 2.61 2.63
S[ARRH(3H, AA-) 3.29 2.99 2.88 281 3.03 3.02 2.96 296
3| A (34, BBB-) 8.80 8.58 8.49 8.41 8.62 8.61 8.58 8.57
® =t
201242 | 2013. 28 | 2013. 3L 4/5 412 4115 416 anT
KOSPI 1,997.1 2,026.1 2,004.9 1,927.2 1,924.2 1,920.5 1,922.2 1,923.8
ESEE 13,1041 | 14,0545 | 145785 | 145653 | 14,865.1 145992 | 14,756.8 14618.6
L|#|0]225 103952 | 11,5594 | 123979 | 128333 | 13485.1 132757 | 132214 13,382.9
&5to|5E 2,269.1 2,365.6 2,236.6 - 2,206.8 21819 2,194.9 2,1938
® HE
201292 | 2013. 28 | 2013. 3@ 4/5 412 4115 4/16 anT
/e 1,071.1 1,0854 1,112.1 1,1238 1,129.0 1,131.1 1,1247 1,196
/10021 12475 1,176.2 1,179.5 1,166.3 1,132.2 1,149.7 1,1584 1,146.3
H/RE 1416.3 14258 14252 1,452.9 1,480.2 1,482.0 1,468.0 1,476.0
/1ot 1719 1743 179.0 181.2 182.2 182.7 181.8 181.1
@ A XY
201242 | 2013. 282 | 2013. 3L 4/5 4712 4/15 4/16 417
HFWTI($/EHZ) 918 92.1 972 927 913 88.7 88.7 86.7
=2($/=22) 1,687.9 1,577.7 1,594.8 1,575.4 1,501.0 1,360.6 1,386.8 1.382.2
T2|($/E) 79150 7,828.0 75825 7,376.0 75100 71255 72190 7,067.0
20|=($/E) 1,860.0 1,845.0 1,803.0 1,800.0 1,785.0 1,755.0 1,795.0 1,770.0




